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AGRICLJLTI.IRE AND HORTICI.'LTL]RE
(Theory)

Full Marks:30

Pass Marke : 9

Time : Two houre

The fignes in the natgin inilicate full na*s
Jor the qucstions.

PART-A

Q. No. 1 cmries 7 nork eoth

Q. No. 2 unies 2 mark each

Q. No. 3 unies 3 ntrks each

PART-B

Q. No. 1 canies 7 mark each

7x2=2
2 x6 =72

3 x2 = 6

1x10 =10

Total = 30

Contd.



PART-A

(Vocational Skills )

1. Choose the correct answer from $g options : 7x2=2

fiTq{{F 'F{t Bh Ew&t <tR om:

(n Chrysanthemum can be grown on the soil pH of about- 1

(a) 7.s @ 5.5

(b) 6.5 (d) 4.s

frrurqlm 1-d< fin {E< {rrIffir lte p"?<q-
(s) 1.c (d) d.d

(rl) v.c (q) 8.d

(it Proper hawesting stage of rose is - 1

(a) tight bud (c) half open

(b) stightly loose (d) None of these

cflFrteFr TIr E['tFil cfh w ?q[E-

(T) +fr uT ?q elTl qrcls (rt) +fr ct{t cr{l qrEls

. ("t) qFB cnqtq{Ets G) cstr{f&tFr{c{t

2. Answer atry sd* from the following questions : 2x6=72

Erq{ ed}q<'!d Ardr{l & cIF Bq fiTl :

(a) Define pirrching in aster. ., 2

qE< fols Ft&1q qst fr$ t

(b) What is the bent neck in Gerbera ? 2

qr{<s TE< c€ tr{ft ?
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k) How is gaillardia propagated ?

ttffi$ TFI-{{qqpcf 6OHq6qq{ ?

(d) Describe the harvesting of marigold.

{ff 1-q< xtu 6{r+116( E-call<t En, <6t m r

(e) What is grading ?

cd&( rt6{ fr ?

(fl What is pre-cooling of flowers ?

F td.m+*, * ,

@) Explain the planting of tuberose.

<ffinm [q< c{l"t"F fisrs $FUI m t

(h) Write down the importance of jasmine.

cqEfri< e<q fr{tl

3. Answer afly fiDo from the following questions :

ss< alqTqE "l<t ,Qrfltr{t rhkbw fu,
(a) Discuss the classification of annuals.

{fr6 T-q< cefiRqw< ftscr qtralE-{ ct t

Or/qoRt

How is a seed bed prepared for raising annuals ?

<tffi+ gffi ffir frrKE cotrtlrR EEE <!tI q{ ?

3x2:6

2

2

2

2

2
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@ Write down the importance of trees.

{< e<q fr'{1

or/q!a1
Write down the procedure of making bonsai.

<auR fidq cR "iq-&< fiI1s fi"+t r

PART-B

(Employability Skilb)

1. Answer the following : 1x10=10

E-fi zlrtq<BBfu[.

O What are the characteristics of an ideal message ? 7

(a) Clear @ Concise

@ Accurate (d) All of the above

6t qtn{{$ft Rct<cm{ ft r
(o *"8 ({) cfts
(tt) c$s (!) €errrlg:rprt[ctFt

(it Which of the following is not a parameter to describe an individuals

personality ? 1

(a) Self<onfidence (b) Openness

(c) Neuroticism (d) Agreeableness

ffiRs. 6sFdt {k {fu <qti 6R a1omft aqq r

(s) qvft,q.c ({) sl
(rt) ffiGq{ (q) qNI
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(iii) "By detarlt, the text in a cell is left aligned." State whether this is true

or false. 1

(a) True (b) False

"ffi src<, 66-{ ,{EF "[5 <|d$t6 q([<RE tq qtr+ r" q?6t :flil d frqt ?

($) dEt (q) fis

(izr) The ability to work with others is 1

(a) organizational skills (b) interpersonal skills

(c) initiative

q{{ t{Cs o{ F{F m?6 t<s

1a; aiaffia6s1 (q) "[<*"tR-+qsEI

(tt) ts-ckrttt

(t:) There is a garbage bin in your canteen and it generally gets filled

beyond capacity every day. What should you do ? 1'

(i) Ask the canteen management to get a bigger bin.

(ii) Suggest ways to reduce the amount of garbage collected.

(in) Throw garbage on the floor and walk away.

(iv) Talk to your friends about the problem.

(a) (i), (ii), (iii)

(b) (i), (i0

(c) (i), (iii), (iv)

(d) (,), (i")
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ql["ttffi 6{Eis 6t q<ffiT 
'rq qlzqq+ tftF"Ics q&frH sc\or

{tRssffi<rqlfrfrmEGs r

(,) c${b{ mnqnt-{ eA qw qt<q'{< 
"n-q 

qrts'sd+r

(ii) c(dq €f q<ffi{ {Rffi fi fi< b"flT-{ "RT,f frm r

(iii) r&{ts qI-<6I cla.ftfrss q+ qlER lt€s I

(iv) c"ffitfi< R'srn w{frK W:f< tcrc sefl "fiEiFt

(s) (i), (ii), (iii)

(rt) (i), (ii)

('r) (i), (iii), (iv)

(q) (,), (i')

(ai) A 

- 

is an arrangement of cells in a horizontal rnnner.
(column /row / ccll / workshcet) 1,

- 
cE-q6{l-{ "tefifr T{c"t q&E FI s{t (ssl,1fia/ c64/7ffiF)

(oii) T\e ability to continue to do something even when it is difficult is

called 

-. 

(initiatioe / organizational sbills / perxzserance) 7

csGfl fuI eb'r qI sfu tq "iz< cs&w q-{t€ {{IR cNd-+ 

- 
c+r<r

q t (tcqn / q\atfiE rys1 I qqqqqS

(oiii) Which of these sentences is/are in passive voice ? 1

sE< <]sj-q{F &E-<E csrdfi of<tul r

(a) They are watching a movie.

(b) The clock was repaired by Raju.

(c) He is sleeping in tlre room.

(d) My pet dog bit the plstrnan.
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(lr) Mona is helping her sister to overcome a personality disorder. What
should she do ? 1

(a) TaIk to her sister.

(b) Engage her in hobbies.

@ Help her build confidence.

(d) All of the above.

r-{R s.k 6I{-@ s,e\< fr-sl< E< Fts {{r sR qtrsr sE fr Gt
EGs r

(s) ekdr.Tfi trym+qn,nso

("t) Efu<6sffi<xl
(rt) Ek qYR$c rt.ElE yf{I s<l

(s) €"ll{ts 4FrEtr<Fr

(x) ln a steel factory, a lot of utensils are being made. The manager finds
a number of defective pieces, which have to be discarded. How can
the person minimize the waste ? 7

(a) Give it to kabaadiwala or scrap dealer.

(b) Dump it in a landfill site.

(c) Send it back to the production line - to b€ melted.

(d) Sell it in market.

qil fr{ FR.tFnE, aq6sl qtn<6 ?srt< qrr mr{qT6r ffit€ s6t{
ffl ffi ,N, {ls clnRfi< stB<r<,BqH qm6t coraru< Sc sfi<

"[6[ ?

(T) fur oFtB{EI {t Gq &-qTs fr$$l

({) fus mefrqufrs c"mRfr's+r

(tt) fus $qxq{ e.ki6 T{R "t0rts+-aG-da t

(q) tlt+ <qrv fi-fr w+r

-x-
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